Problem 1:Consider the circuit shown in Fig-

ure 1.

(a) Draw a graph for this circuit.

(b) Identify (draw) a tree that does not include
the branches C, and R. Choose it such that
vou have the minimum number of equations
to solve.

(¢) Use mesh current method to write the equa-
tions for this circuit. Make sure that ic(t)
and ig(t) are two of the unknowns. Assume
that no energy is stored in any of the induc-
tors or capacitors.
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Problem 2: Refer to Figure 2 for this problem. Calculate the Norton’s equivalent of this network
looking into the terminals 1-1°. Use any method of your choice.

! w2k A
1 o l / $ 1\ ’12.
\
R‘{ ( RZ Q}_‘*‘E:;
Ra(A)Ils (= e
. ; + '
Kip L I'(|1 / - Kig
1' & \
~_ —
Figure 2.
(20 + 20 = 40 points)
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Figure 3

Problem 3: Refer to Figure 3 for this problem. Find Vo(t) for all t > 0.
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